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Figure S1. The equivalent electrical diagram of the complete cardiovascular system described. For
abbreviation definitions refer to Table 3 in the main paper. The left atrium feeds blood at a pressure
P, through the mitral valve (the diode) into the left ventricle (Ly). As the blood passes through the
valve it encounters a resistance R,,. With the mitral valve closed the aortic valve (second diode)
opens allowing blood at pressure P, to flow into aorta encountering a valve resistance R,;. The aorta
has a compliance C,. The aortic blood at pressure m flows (F;) towards the remainder of the body
encountering a characteristic resistance R.. The blood has an inertia Ls due to its mass and encounters
the resistance Ry and compliance Cs of the body’s systemic arteries and tissues. The blood at pressure
P; after feeding the organs with fresh oxygen and nutrients is re-oxygenated and flows back to left
atrium (with compliance C;) ready for another cycle.
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Figure S2. The effect of increasing 1 for the control case: j1; = [0.0128,0.0145,0.020, 0.0268].
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Figure S3. Cont.
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Figure S3. The effect of increasing y, for the control case: pp = [0.153,0.1584,0.1718,0.36,1.8].



